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Name:

StudentID: SOLUOTIONS

TEST 2

This test is graded out of 45 marks (there are 3 bonus marks available). No books, notes, graphing
calculators or CELL PHONES are allowed! SHOW ALL YOUR WORK. If you need more space
for your answer use the back of the page.

Question 1. (4 marks)
Find the derivative of f(x) = 1 —x? using the LIMIT PROCESS.
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Question 2. (5 marks)
Find an equation of the tangent line to the graph of f at the point (—1,1).
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Question 3. (2 marks each)
Find the derivative of the function and simplify your answer where possible.
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Question 4.
Find the derivative of the function and 51mphfy your answer where possible.
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Question 5 (4 marks)
Find dy/dx by implicit differentiation then evaluate the derivative at the point (—1,1).
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Question 6. (6 marks)
Find d°y/dx” in terms of x and y.
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Question 7 (4 marks)

Find an equation of the line that is tangent to the graph of f and parallel to the line y = 7x — 1.
Where f(x) = x?+3x— 1.
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BONUS QUESTION (3 marks)
Find the f(4%0)(x) (the 400th derivative of f) where f(x) = sinx+2

I:l.r\lcl tl\e_, PA‘\Jrer:\l

i ne

£y Y= cosx £5(x) = cosy
frex Y = —Siny F:é (x)= —sinx
[2(x)= -cosx FF(x)= -cosx

T hne N o ———
|Fr )= Sinyd FY ()= S|
S VRr Hth derivatve we redorn to
e
giw&r oo 1S A MUH-CPCQ, of Y

P 00) = sy




